Rikki-Tikki-Tavi Plot Sequence

On a plot diagram, put these events in the correct order. You do not have to
write out the events; just use the letter that corresponds with the event.

Six of the events below are rising action
One event is the climax
One of the events is falling action
One event is the resolution

A. Rikki tikki meets, fights, and kills Karait, a snakeling

B. Rikki Tikki overhears Nag and Nagaina’s plan to kill the British family in hopes that
RIkki will then leave

C. He meets Nag and narrowly escapes a sneak attack by Nagaina
D. The animals celebrate Rikki’s victory

E. Nagaina disappears down the rat hole with Rikki-Tikki's teeth clenched on her tail.
Rikki comes up from the hole and announces that Nagaina will never come out again

F. Rikki and Nag get in a fight in the bathroom and the big man comes in and kills Nag
G. The garden is safe forever and ever

H. Rikki-Tikki is washed out of his burrow in a summer storm and ends up in the garden
of a British family living in India

|. Rikki smashes all but one of Nagaina’s eggs and uses that as bait to lure Nagaina
away from the British family



